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Multiple Choice Questions

1. Which of the following is true?
A.  Every whole number is a natural number
B.  Every integer is a rational number
C.  Every rational number is an integer
D.  Every integer is a whole number

; is Afalse?
2. For positive real numbers a-and b, W h 1¢h Of The 74//0“’ 'Dj {

A Jab=ab B @+b)a—vb)=a’-b
i ol
%:7% : C (Ja+vb)a—vb)=a+b

3. Out of the following, the irrational number is
AcS] 5 BSiepggy | ik D pag3

; 1
4.  To rationalise the denominator of Jaip: € mulfiply this by

Ko Ja-b Lo . shasn
vJa+b TR e Ll o Ja+b

5. The number of rational nurnbers between V3 and f5 is

A.  One B3 C. Nome D. Infinitely many
& If we add two irrational numbers, the resulting number

A. 15 always an irrational number B.  is always a rational number

C.  may be a rational or an irational number D.  always an integer

7.  The rationalising factor of 7-2+/3 is
A a8 B 728 C. 438 B 5w

i — 4
8 It 7=0.142857, then =3 cquals

A 0428571 B. 0285718 C. 0857142 D. 0571428
9. The value of n for which \/; be a rational number is
ALIED! B. 4 (G D. 5
312
1¢. 6\[2—’/: cquals
i i
B 3 = B .5
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14.

3\3

(3 +3) (3 —/2) equals

A 9-5/2-6 B ok

C. a0 | D, 9-3/34+33-J6
The arrangement of /2. f3, /5 in ascending order is

W SRR

e .8 D. i A5

If m and n are two natural numbers and m” = 32, then n" is

A 52 R 53 C. 5IO o 512
: 1

if \,66 =3.162, then the value of :lﬁ o

A 03162 o B 3.162 €. 362 D. 3162
_% GX 1_6_ 5_ f 243 _ '
If - g g , then the value of x is
Al 4 B, =2 . e D. 6
Short / Long Questions

Prove that .f5—/3 is not a rational number.

Arrange the following in descending order of magnitude: §50, 410, J6
Simplify the following: (4/3—242)(3v2+4/3)

5. &
If 3=6—--/35, find the value of das

Simplify, by ratonalising the denominaror
ke aB L aBE
\E = \/g \/6 =k \I’g \[6— & \/6
xfi +1 45 —1

If X=——=— and Y=——=—, find the value of X + y + xy
J2-1 J2+1 ¥ 2

5+2\/§ \/;— )
If e =a—+/3b , find @ and & where @ and b are rational numbers.
7+\;3
Evaluate:
i , 1 A 1 ; 1
+ —+——= St a G
Dt ey e J9+/8

1
If x= . find the value of 26 -7 2x+]
;'\,6 .




